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Warm Up Grade 7
Novq, 2022

1. Write equations for each of the following(remember to tell what your variable stands for):

(a) a number increased by 13 is 77 le: A= o numbder
n + )13 =17

(b) Stan age increased by 8 is 60 et 9 = ran'sS aae
()Tsl?- 8 =fbbh fell d by 32 is 100 >
¢) Twice the amount of snow that fell increased by 32 is CM.__ o

NS
(d) three times the number of students at the dance increased by 64 is 900. s

3n+6Y4 =00 _
(¢) the mass of the elephant divided by 8 is 220. ler nz Rof

22220 o M*¥ =220 led M= moss of elephant
2. Translate the following into words:

4c-2=18 .
(a)qc-l-'.nt.s o fumber decreased by 2 1S R
(b) 5d = 80

5 +imesS a number s 80

7=21
(c)g\7nw~\b¢\- Subkract 7 1S 2_\

() x + 11 =43

a number ncceased by ll ¢ y3
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%rm Té]o Dolutions

1. Write equations for each of the following(remember to tell what your variable stands for):
(a) a number increased by 13 is 77 -
C= Lhe number ¢c413=77
(b) Stan age increased by & is 60 'L
+= Slan's G‘ae +8=60
(c) Twice the ilou of show that fell increased by 32 is 100 cm.

n= ot SN M {32=/00

(d) three tlmes the number f students at the dance increased by 64 is 900.

(e) the mass of the ele hant lelded y 81s 220 3 S 4' Bq— 90 0
€= mass o -glg ﬁ
P ot e 2 )

2. Translate the following into words: g
4c-2=18
3«;-;3?“ the anb o rdn decreased by 2 5y 1%
(c}': mes the amb oF CoAdy eq uals QO
)'\' e “\«N\l:t" o} cheS: hats decrased t:&? 13

(d)x 11 =43

he awaler ob copkies 11CTeatedd - T

Homework pg. 36 # 1-8
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1. Write an equatian for sach sentence ge 36 ?f;#nq%ﬁ@(utz’omf
b Eight

al |:|l;||'|[ rivane than a number is 12, Iess than a I'II.||'|'|-|:I|‘.'r i5 12

Q-M-i.?. o-%¥ =12 ]

n*% = '%
2. Write a sentence for each BOUalHIn
a12+n=19 b In=18 g12-n=5 d 1=¢

 ninben o
o= the $ o5 peophk B s= "der
o b =253 S
3. Write an equation for each sentence a —_ l/

aj Six times the aumber af people in the room s 258,
b} One-half the number of students in the band is 31
¢} The area of a rectangle with base & crm and height b centimetras is 36 cm.

A = base X heiqht 4\\ 6 ¥ ‘\ —?a(o
(= bage % b 2
36 = b = h bl\-?»
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%meWorf qéofutz'on&

4, The perimetsr of a square is 156 om. Riscall Wit pesimetst
Write an equation you coubd wse to find it - is the dixtance around
the side length of the squars, a shage.

Be= 156 or c-l-54g -}s = /50

W
B. The side length af a regular hexagon is 9 em. \1
. W \
Write an equathon you could use to find the 6 h :?
perimeter af the hexagaon “ [/ <

h= PCJ‘\W'\&'LQJ‘ L <9
byG=h 54 =P

6. Match each equation with the correct sentence

aint4=Fg A Four bass than a numdber 15 B C

k) -1.-1-:F!- B Four maore than four times a number is &

(gn—d4=8 (o Tl‘rEEiJﬂl‘.‘l”l‘.‘uUldﬁddl’lUl’ﬁl‘JEl L O

d) 4 % 4n = & D The product of four and a numker is & b
A Y o ——

multie\y, Y = 8
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T. Alonso thinks of a2 number ﬂ %meWorkdcgofutionJ
He divides the numbser by 4 then adds 100 n
Thie answer is 14 L.‘

Wiite an equatian for the problem.

nylo=1I4
I
8. Assessment Focus

a) Write an equation for each sentence

il Free times the number of students & 265, gn - Zq g'

i} The area of a rectangle with base F om and

height b centimetres s 28 cm? 7%‘) st 2? (7 L" :J?)

iif} The cost of 2 tickets at x dollars each and

5 tickets at 54 each s 544, 2 X, + 20 - 4'4

vl Bhawin's age 7 years fram now will be 20 years okd C_-‘ 7 - 20
b} Which equation was the maost difficult to write? Why! .
£} Write your own séntence, then write il a5 an equation.

%4-\‘0 = 1Y
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Mame: Grade 7 Unit 1: Patterns & Relations
Sheet13
1) For each of the following charts,
i) Fill in the missing numbers.
! ii} Write the relations as an algebraic expression
iii) Describe the relation in words (Term = times term # Plus or Minus Constant)
2 n=1 owizI0
- r\-l"‘ -
TermNumberf 1 J 2| 3 [ 4 | 5 | 6\
Term 10/ ) 16 9| |28 !r\‘_“‘
Wb ) L‘ >

2 +1

b) Term Number | 1 | 2 3 4 5 ]
Term 10 12 14

c) Term Number | 1 | 2 3 4 5 ]
Term 3 7 11 15 19 23

d) Term Number| 1 2 3
Term 7 |13 19 25 31 37

I
wn
[=1]

Term Mumber | 1 2 3 4 5 6
Term 10 | 20 30 40 50 60

2) a) For Part 1d) find the value of the 15* term. (Use algebraic expression and a calculator to getanswer)

n +| nN=1\$
6&)+\

b} For part 1e) find the value for the 12* term. {Use algebraic expression to getanswer)

A0¢

3} Kevinis planning a wedding and the cost to rentthe hallis $250. The cost of foodis $20 per.Eerscm.
a. Complete a chart of Kevin's total cost related to number of people forthe first & people.

= $®
voa¢ dpeoplel 1 [2] 3 4] 5 [6 ¢=\ Q02 ¥3
ol Cos+ |202% 30 334 35937 20(N *260 qo «+J%®

20 +280o 240

b. Write the algebraic relation of total cost to # of people using “p” as the variable.

+t= 20p +25>
c. Explain the relation in words,

by bZZD .
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4) a) Write the perimeterof a regular octagon as an algebraic expression if each side has a length of “n".

b} Find the perimeterif the length of the side of the regular octagon is 6 cm.

5) Tedis having a party. The cost to rentthe hall is $25 and the cost for food is $10 perperson.
a. Create a chart that relatesthe number people to the total cost.

#ofpeople,p| 1 2 3 4 5 6

Total Cost

b. Write out the relations as an algebraic expression.

c. Write the relation in words.

d. Whatis the total cost when 30 people are invited? (Show work)

e. Whatis the total cost when 25 people are invited? (Show work)

f. Whatis the new expression if the cost of food doubles?

6) SIMPLIFY then evaluate each of the following: (MUST COLLECT LIKETERMS FIRST)
a. At+7p—2p+6t—t+5, p=2 & t=7 b) 5ab +6b-10 +6b ; a=2 & b=5

c) Sr+6w +7r+2w —4r ;r=3&w=2

7) 'Write an algebraic expression foreach of the following. [Rememberto define your letter for the variable)
a) Productof14 and a number.

b) A numbersubtractfrom 26
c) Anumberincreasedby 3
d) Triple a number plus 21
e} Anumberreducedby 8
f} 31 subtract a number
8) Write the expressionaswords
a. d-11

b. 100 -b

c. 3n+6
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') a)

November 09, 2022

Input

f+14
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9b)

November 09, 2022

Input

11k -1




gr 7 u1 pat day 13 solveq USE.notebook November 09, 2022

STOP

10
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Solving Equations

Solving equations is when you find the value for the variable. One way to solve
equations is by modeling.

Algebra tiles can also be used to help you solve equations.

When you draw the algebra tiles, you always shade in the positive and the negatives are not
shaded.

On the computer When drawn:

NN
Y

11
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Write an equation for each model

Mea |

%
C)VV W\
047" | o

November 09, 2022

12
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Example: Use tiles to solve

Remember, whenever you are solving equations, whatever you do to
one side of the equation, you MUST do to the other. .
Write the

- - equation
7 \wen
D)

DA

Need to get "x" all by itself

You have to take away 1 from the left side, so
you
have to also take one away from the right side

solution

13
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Solve the folldwing ]
7 | YR%
| B
Z /.
~ I
|
b)
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5 more than double a number is 13.
a) Write an equation you can solve to find the number.
b) Use tiles to SOLVE the equation

c) Verify the solution

15
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Example:

5 more than double a number is 13.

) . t "x" represent the number
a) Write an equation you can solve to find the number.

2x+5=13

b) Use tiles to SOLVE the equation

step 1

W + s 3

step 2

2x +5 -5 13-5

step 3 I I
2X

line up into "2" groups

stepd) x=4

c) Verify 2x+5

sub in x = 4 into the left hand side

2(4)+5
8 +5
13 Right hand side
We know we are correct
2x+5=13

November 09, 2022

16
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Homework pg. 41 # 1-3

Test next week

November 09, 2022

17
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Grade 7 Unit 1: Patterns & RelationsName: __________________



		Sheet 13

1) For each of the following charts,

i) Fill in the missing numbers.

ii) Write the relations as an algebraic expression

iii) Describe the relation in words (Term = ____times term # Plus or Minus Constant)

a) 

		Term Number

		  1

		2

		3

		4

		5

		6



		Term

		10

		

		16

		

		21

		













		Term Number

		  1

		2

		3

		4

		5

		6



		Term

		10

		

		12

		

		14

		





b) 



		Term Number

		  1

		2

		3

		4

		5

		6



		Term

		3

		7

		11

		15

		19

		23





c) 



		Term Number

		  1

		2

		3

		4

		5

		6



		Term

		7

		13

		19

		25

		31

		37





d) 



		Term Number

		  1

		2

		3

		4

		5

		6



		Term

		10

		20

		30

		40

		50

		60





e) 



2) a) For Part 1d) find the value of the 15th term. (Use algebraic expression and a calculator to get answer)





b) For part 1e) find the value for the 12th term. (Use algebraic expression to get answer)







3) Kevin is planning a wedding and the cost to rent the hall is $250.  The cost of food is $20 per person .

a. Complete a chart of Kevin’s total cost related to number of people for the first 6 people.

		

		  1

		2

		3

		4

		5

		6



		

		

		

		

		

		

		











b. Write the algebraic relation of total cost to # of people using “p” as the variable.



c. Explain the relation in words.



4) a)  Write the perimeter of a regular octagon as an algebraic expression if each side has a length of “n”.







b) Find the perimeter if the length of the side of the regular octagon is 6 cm.



 

5) Ted is having a party. The cost to rent the hall is $25 and the cost for food is $10 per person.  

a. Create a chart that relates the number people to the total cost.

		# of people, p

		  1

		2

		3

		4

		5

		6



		Total Cost

		

		

		

		

		

		







b. Write out the relations as an algebraic expression.



c. Write the relation in words.





d. What is the total cost when 90 people are invited? (Show work)

e. What is the total cost when 25 people are invited? (Show work)







f. What is the new expression if the cost of food doubles?









6) SIMPLIFY then evaluate each of the following: (MUST COLLECT LIKE TERMS FIRST)

a.  4t + 7p – 2p +6t – t + 5  ,   p = 2  &  t= 7		b)  5ab + 6b -10 +6b  ;   a=2 & b=5 









c)    5r + 6w +7r + 2w – 4r   ; r =3 & w =2







7) Write an algebraic expression for each of the following. (Remember to define your letter for the variable)

a) Product of 14 and a number.



b) A number subtract from 26



c) A number increased by 3



d) Triple a number plus 21 



e) A number reduced by 8



f) 31 subtract a number



8) Write the expression as words

a. d - 11		





b.    100 - b		





c. 3n +6

		Input

k

		    Output

11k -1



		9) 1

		10) 



		11) 2

		12) 



		13) 3

		14) 



		15) 4

		16) 



		17) 5

		18) 







		Input

f

		    Output

f + 14



		19) 1

		20) 



		21) 2

		22) 



		23) 3

		24) 



		25) 4

		26) 



		27) 5

		28) 





9) a)		9b) 
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